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O1. Choose the correct answer (30 marks)
1. What would be the output of the following code (in editor window)?
a=[102] 4 b=[307] 5 c=a.*b
a) 17 b)3014 c)1403 d) error
2. What is the command that return matrix containing the slope and the x intercept for a linear
fit?
a) polyval b) polymatrix ¢) polyfit d) linearfit
3. In the flowchart, a parallelogram circle O is used to represent a ..........
a) Start / Stop b) connector ¢) Process d) Loop

4.A shape that can represent two different conditions in flowchart is a

a) Rectangle b) Diamond ¢) Circle
5. Hnumwenes then.....elseif........... else ueeueee endif
a) one condition b) two conditions ¢) three conditions
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d) Parallelogram

d) four conditions

Consider the M-file and the code as follow

answer questions 6,7,8:

function out = squarer(A, ind) A = ones(2,2);
ifind == outl = squarer(A, 1)
out = A*2; out2 = squarer(A, 2)
elseif ind ==
out = A2
end
6. What must be the name of the M-file?
a) A b) out ¢) squarer d) any name
7. What is the value of outl?
a)ll b)22 ¢) 10 d 4
11 22 01
8. What is the value of out2?
a)ll b)22 c) 10 @ 4
11 22 01
9. We use command -------~-- for condition sentences.
a) for b) if c)while (d) elseif
10. To ask the user via if statement that, x not equal y we write
a) x.noteq.y b)x~=y ¢) xnot=y (dx#y
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11. Which command is used to slow down the execution in the M-file?

a) cancel b) wait ¢) pause (d) stop
12.We can view the folders from the .........

a) Command Window b) Current Directory ¢) Command History d) Workspace
13.If you need to use a saved array, you can find it in the ............

a) Command Window b) Current Directory ¢) Command History d) Workspace
14. The flowchart (X)is a ....... ... Flowchart. |

a) sequential b) selecting ¢) Loop d) Repetition

15. In the flowchart (X), When he must leave home to reach school?

Leave home

a) after 7am b) before 7am ¢) any way d) no way

The flowchart (X): Take bus Take subway

L J

Reach school

Q2. Choose T the correct sentence or F for the wrong one (20 marks : 2 marks for each point )
16. The vector x = —1: 0. 2: 0 is the same as x = linspace(—1,0.2,0).

17. The shapes in the flowchart (X) are all correct.

18. The command solve is used to find the solution for the differential equation.

19. Drawing functions in MATLAB is by using draw command.
20. We use the command “syms” to identify the numeric characters.
21. Zeros(1,5)*Zeros(3,1) outputs 5x3 zero matrix.

22. We can show the sequence of steps in an algorithm in a structural diagram called a flow chart.

23. Find(x>2) is used to display the values greater than 2.

24. The Algorithm is a set of instructions in order.

25. >>1:2:10 is used to print the even numbers between 1 and 10.

22 Dr. Moataz Elkhateeb
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Answer the following questions:
Question One: true or false : (True = A/ False = B)
1. One of the major benefits of applying ISO is the reduction of non-conforming

products.

Total quality management involves factual approach to decision making process.

Quality assurance is mainly the responsibility of operation management.

Quality means continuous improvements.

‘Quality begins with satisfying customers’ requirements.

.. Applying ISO doesn’t involve too much cost.

. Employees’ improvement training should be conducted at all levels to enhance

- quality.

Defects are prevented when concentrating on plannmg and design stage.

9. Quality assurance is a separate part from all organizations® processes and
functions.

10. Total quality management involves a reactive approach only.

11. The quantitative term of quality involves sampling inspection.

12. Elimination of surplus procedures helps to minimize waste.

13.Minimum level of communication is requlred when applying quality inside the
organization.

14.Inspection is an aspect of quality involves directing organizational efforts towards
planning and preventing problems from occurring at source.

15.Every person in the organization can take personal responsibility for the process of
quality.

16. There is no limit to enhance quality.

17. Tolerance limits of products express quality.

18. Customers share the responsibility of quality.

19. Employee individual work is considered the base of applying quality in the
organization.

20. Eliminating the root causing the problem is the main job of inspection.

21.The purpose of quality management system is to establish reference points to
ensure that a process is performed every time in the same way.

22.1In total quality management, there is no single route leading to success.

23.1t is not acceptable in terms of quality to be outside marginal specification limit.

24. Quality management is concerned with the consistency of information, methods,
skills, and controls of various processes.

25. Total quality management can be applied with different management styles and
different corporate cultures.

26. Quality control involves operating in a detection type mode.

27.Total quality management involves a proactive approach only.
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28.Implementing ISO means the Job is done the same way, time after time, and best
approaches are shared.

29. Organizations can measure their performance based on the level of their customer
satisfaction. o

30.1t is the market responsibility to ensure that adequate requirements are created and
specified within the organization.

31.1t is not necessary to document activities regarding quality management to apply
ISO.

32.0ne of the indicators of total quality management is the time taken by the
organization to respond to customer problems.

33. Inspection involves advanced quality planning.

34.1SO means the job is done in any way and best practices are shared.

35. One of the most important techniques to measure quality is self-assessment.

36. Fitness of quality purpose involves quality of conformance.

37.Fewer procedures and less work instructions are required with applying quality in
large companies.

38.1t is not necessary to train employees when applying total quality management.

39. Cost and quality are complementary objectives.

40.Implementing ISO is concerned with how to implement the steps rather than
measuring the time taken to perform the task.

41.Focusing on fitness for use helps to prevent the over-specification of products and
services.

42.Employees’ lack of understanding of quality is one of the major obstacles to apply
quality.

43. Quality and service improvements can be directly and logically linked to enhanced
revenues. '

44.Resistance to change affects the progress of implementing quality.

45.Reduction of the time taken to perform the job saves a lot of resources.

Question Two: choose the best answer:
46.There are number of ways in which quality may be defined, all of the
following are considered one of them except....... :
a. Satisfying customer expectations and understanding their needs.
b. Uniformity of product characteristics.
c. Not necessary that every item inspected meet quality level.
d. To define product quality in terms of poor, good, or excellent.
47.Quality assurance is ....... §
a. Assignment of roles and responsibilities of each function within the organization.
b. Determining customer needs.
¢. Determining the requirements of planning, designing, production, delivery, and after
sale services.
d. All of the above.
48.To answer the question of how will the organization know when it has
achieved total quality management.............
a. Total quality management is a continuous process.
b. It is the ability of the organization to respond to changing customer needs.
c. It is considered as a race with no finishing line.
d. All of the above.
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49. All of the following is a ranking factor that people consider important when
they purchase a product except.......:
a. Price.
b. Appearance.
c. Ease of repair and after sale service availability.
d. Inspection and quality control at the assembly line.
50. All of the following are considered among the factors that lead to a lot of time
needed to apply ISO except....... -
a. The complexity of work location.
b. The type and number of production processes.
c. Employees’ lack of understanding about the product/serv1ce quality.
d. None of the above.
51. Which of the following best describe integrating quality to management
functions inside the organization..........:
a. To link directly to customer groups.
b. To permeate every function of an organization and to integrate with each department
activities.
c. To develop measures of customer satisfaction.
d. All of the above.
52. Which of the following are considered main advantages of adopting quality
standards.......:
a. One can negotiate the levels of product quality.
b. Cost, productivity, and quality improvements can be alternative objectives.
¢. Quality means improved business performance.
d. Organization can adapt quality objectives for short term.
53.Quality management system provides all of the following except.......:
a. The consistency of performing a process.
b. Determining the recruitment process.
¢. To communicate policies and procedures.
d. Monitor to improve teamwork.
54.The progress of applying total quality management can be assessed ) SAPRRN..
a. The number of customers.
b. The number of employees.
c¢. Comparing with other companies.
d. The number of procedures.
55.The right order of evolution of quality management.......:
a. Quality control - Quality assurance - Inspection - Total Quality Management.
b. Total Quality Management - Quality control - Inspection - Quality assurance.
¢. Inspection - Quality control - Quality assurance - Total Quality Management.
d. Quality assurance - Inspection - Quality control - Total Quality Management.
56. Of the difficulties of applying ISO...........:
a. Lack of flexibility.
b. The complexity of terminology used.
¢. The degree of employees understanding of standards.
d. All of the above.
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57.All of the following are considered as in — house measures of quality
except....eeenennat '
a. Frequency of failures.
b. Time taken to respond to customers’ problems.
c. Total quality costs.
d. None of the above.
58.All of the following is considered of the main principles of quality
management as defined by ISO 9000 except.......:
a. People at all levels get involved to enhance their abilities in order to enhance
quality.
b. Activities should be achieved in short period of times without any regards of
quality aspects.
c. Developing a system approach for all processes to contribute to organization’s
effectiveness and efficiencies.
d. Decisions are based on the analysis of data.
59.All of the following are considered among the benefits of applying ISO
except.......:
a. Reduction of errors and customers’ complaints.
b. Reduction of ineffective and surplus procedures.
¢. The degree of applicability of standards.
d. Better working environments.
60. All of the following are considered as a measure of quality except.......:
a. The level of training inside the company.
b. Attitudes of management.
¢. Comparing to a high standing company.
d. The degree or amount of paper work.

Best Wishes,,, )
Dr. Dalia Samir



